USN 10CSS3
Fifth Semester B.E. Degree Exammaté on} I
Operating Symgt -
Time: 3 hrs. "y , Max. Marks:100
Note: Answer FIVE fug@guestwns, selecting &
i atleast TWO stions from each part
8 PART — A "l
P 1 a. Define operating system. Expl4im® 1 ferent views of operatmggsystem (08 Marks)
° b. -What are virtual machines?&xpldin VM-WARE archltecéur% with neat diagram. (08 Marks)
. E c. Explain process managea%gg@ activities. (04 Marks)
&8
'E, s 2 a. Withneat dlagrargwﬁlam different states of a pgocess (05 Marks)
al b. Discuss schedqlm‘é“*crlterla used in operat' (05 Marks)
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2 E 3 a critical section problem.
g s (07 Marks)
! b. (08 Marks)
§§ C. writer problam w1th semaphore in detall (05 Marks)
£ 5 Y
g S 4 a What is"deadlock? What%aré necessary conditibns on operating system must satisfy for a
8 Aeadlock to occur? ‘%Q;% e (06 Marks)
éé ‘« or the following mpﬁhot find the safe ‘quence using Banker’s algorithm.
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E i) Is the system o safe state?

ii) Ifa reque%%ﬁ%m process P; arrives for (0, 0, 2) can the request be granted? (09 Marks)
C. How is system recovered from deadlock? (05 Marks)
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PART-B _¢

[ain in detail with a simple paging system
(08 Marks)

What are translation look aside buffer (TLB)?
with a neat diagram.
Given the memory partitions of 100k, 500k é ).

Cesses respectlvely (04 Marks)

algorithm to place 212k, 417k, 112k, 426K.p
g 10710212303240 for a memory with

Consider the following page replacem
3 frames. How many page faults r LRU and FIFO pagg rplacement algorithms?

Which is the efficient among both? (08 Marks)
Explain how free space is (04 Marks)
Explain the different fi ss methods. (06 Marks)
What is a file? Explaig ent allocation meth (10 Marks)
N e |
Describe the ag€ess matrix model used forfrotection purpose. (08 Marks)
Suppose th 2 fion of cylinder is at 5 disk drive has cylinders numbered from 0 to

of parading request in O order is : 98, 183, 37, 122, 14 124, 65, 67.
e current head positiorl what is the total distance travelled (in cylinders) by
to satisfy the req , using algorithm CFS ii) SSTF iii) SCDN and
Illustrate with ﬁgures%" (12 Marks)

gy,

FOD. | ﬁ (10 Marks)
UNIX operating system. (10 Marks)




